—— A
N = 0] &F AF S & AN A
20198 &= 20l A LEHS H S X &2t
SA: 2X™ 2
I AN S SEAH
St AISIE2 X AHIA &Fat (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S XA 2 415,330,418 354,307,861 61,022,557
= 283,067,613
g 9,709,000
Jl 2,665,000
= 114,213,305
£ 5,675,500
ASIEX SEXNH 17,455,274 16,541,898 913,376
= 6,241,772
g 8,421,000
c 2,792,502
ASIEX MHIA &4 11,098,323 10,690, 170 408,153
= 450,772
g 8,421,000
o= 2,226,551
NETGEE MIIAMEA EXAIE 9,180,149 9,162,435 17,714
hag 8,232,000
o= 948,149
308 XX SHHSOIH 9,180,149 9,162,435 17,714
Fag 8,232,000
= 948,149
01 AIXSHMENMNEXZ 9,180,149 9,162,435 17,714
OXEAMIMEIAEXAIS 9,180,149
Fag 8,232,000
& 948,149
SHANI=SXNE2AG 29 L AIFS X220 22 795,500 666,735 128,765
X
307 QI2t0| ™ 665,500 636,735 28,765
10 Al SXNANEEESIHEX 495,000 450,000 45,000
OsdAMa=2XNEEs 29 X2 (0l AHE2H10%) 450,000
OSYAMIIENZ2=S223 29 XA (0AHE 2
0%) 45,000
11T A EXAIEEX 170,500 186,735 N 16,235
Ool2t=2X 83 & SEAS (0l AR 2 157,000
OAMBIEX 2 SAK A2ASAIS X (HAE
2H10%) 13,500
308 XXIGH SO0l & 130,000 0 130,000
01 IXHHIMNEXS 130,000 0 130,000
OY HE OlsAeEAN gz 29 75,000
OA2HE #0Jl= Ols=SAS 29 40,000
OEH= MI=EXE2 2E XA 15,000
NEAMIEBHEAM KNGS 10,000 0 10,000
= 10,000
201 et 9| 10,000 0 10,000
= 10,000




2N
X ZH -
L= B

el

SXE3
ABl =X SEXE
AR S X AHI A ghat

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
03 A2 Z Hl 10,000 0 10,000
OXSAEFHEAH XNSTHaS 10,000
= 10,000
NEASIEEEAN 29 43 N2 75,000 10,000 65,000
308 XXM SO0l A 75,000 0 75,000
01 IXNSHHBANEES 75,000 0 75,000
OXYAsl2ZEAN 45 XA 75,000
ANAME=EX 2= 138,000 80,000 58,000
301 L2 A Z 20,000 20,000 0
12JE 243 20,000 20,000 0
Oozz &2 fIz2= XN 20,000
307 glz2tol & 78,000 20,000 58,000
11T AISI S RAEE = 78,000 20,000 58,000
OMSISXIAF S eF2t3EAR XI& (0l &FF 2H10%) 18,000
OFAAHE SNBSS A 60,000
308 XXX SO 40,000 40,000 0
01 AXSHBLELS 40,000 40,000 0
OAtZI S XA B0 =8l XI& 40,000
ANETEE MIMEIA ENAL (NS 2H9) 413,700 250,000 163,700
= 100,590
s 189,000
= 124,110
307 2Iztol ™ 413,700 250,000 163,700
= 100,590
s 189,000
< 124,110
05 RIZHRI & 3 413,700 250,000 163,700
OsEXNIAMIAMBIAXRASt 2H 270,000
s 189,000
< 81,000
OXGAS MHI A HE ALY S 143,700
= 100,590
< 43,110
AMEISXAE SALAL CHMelsE XI& 485,974 386,000 99,974
= 340,182
S 145,792
307 glz2tol & 485,974 386,000 99,974
= 340,182
< 145,792
11T AISI S XA E = 485,974 386,000 99,974
OMIISXRAAE SALX My X 485,974
= 340,182
< 145,792




SH SNEHY
Ha: AS=X SN

SRl AMEIZX AlE #E L X CERED
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AMNSEX Al &5 & I 6,356,951 5,851,728 505,223
= 5,791,000
& 565,951
MNIEXAE 2 40,000 40,000 0
301 et A= 40,000 40,000 0]
01 Al E& A 252 40,000 40,000 0
OMIZ2XAIE 2 40,000
SEAMF=SIN 2 JsES 25,000 49,000 A 24,000
403 XX SHHS K20 & 25,000 40,000 A 15,000
01 XIS AZ2E X 25,000 40,000 A 15,000
OZEM3EXN2 JsES 25,000
MNIIEIAE 22484 A28 & XS 500,951 487,728 13,223
307 gizto| A 101,880 96,480 5,400
10 MM SAANEEHESIHEX 101,880 96,480 5,400
OMIIETAE HRME(Z) 101,880
-SEHZATNEHEH SAXN HL2HEHI 14,400
-OlsSEXN28I| & SAX HRMAH| 87,480
308 MXISHMSOIA 399,071 391,248 7,823
01 XHHIMNEEXTZ 399,071 391,248 7,823
OABIEXAE HRMHE(AZ2) 399,071
-XEXEHEH SAHA MRS 30,000
-SEASSXN2 SAX HRLIHAHI 50,207
- =0lEE SALA HRMAH] 1,344
OIS EXAIE SAFXF XS24 HI 317,520
A3 2222 X2 5,791,000 5,275,000 516,000
= 5,791,000
308 AMXISHMSOIA 5,791,000 5,275,000 516,000
= 5,791,000
01 AIXSHMENEXZ 5,791,000 5,275,000 516,000
OAMZIER22% K& 5,791,000
= 5,791,000
22 & X 2,420,000 1,311,200 1,108,800
2 22 ¢ XA 2,420,000 1,311,200 1,108,800
S5HH XA 822,000 670,500 151,500
307 212t0| & 822,000 630,500 191,500
02 QIZHEAAIE E X 70,000 0 70,000
OBECH A2AE K& 70,000
03 QIZIHHEHESIHIEX 522,000 490,500 31,500
OBEHH 2% S50l A& 210%) 405,000
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2AH: SRS
dd: BEgae 2 X2
oelr 2@ el 2 XY (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3- 123 10042 EZURMH 100,000
03 &AL Gl 50,000 46,000 4,000
Ozs=E229 € &dAi =& 50,000
301 gt d= 16,000 20,000 A 4,000
09 SALAHIEA S 16,000 20,000 A 4,000
Os=2229 & A =& 16,000
307 glz2+ol & 18,000 74,700 A 56,700
04 QIZFHALAIH E = 18,000 0 18,000
OE&3d LiatAtg Jgell € 2XJ1 o
3l (ofl &FE 2H10%) 9,000
O=g2sit S8 2 Fof(oa=210%) 9,000
308 XX EHHSOIA 100,000 0 100,000
01 HXNHHBHELS 100,000 0 100,000
OO0t S3tH 1005=E IS & At 50,000
OUsSX =gHM2s BMB.12S) 50,000
401 AIEHI L 2 CHYI 600,000 0 600,000
01 A& HI 600,000 0 600,000
O=g2sotd el =4 600,000
=0 =MESH 200,896,453 203,008, 669 A2,112,216
= 176,803,920
s 1,288,000
< 22,804,533
I=zdesd 25 2 X& 200,896,453 203,008, 669 A2,112,216
= 176,803,920
s 1,288,000
< 22,804,533
=1 163,141,875 165,111,680 A 1,969,805
= 145,015,000
< 18,126,875
308 X XIEHHSOIA 163,141,875 165,111,680 21,969,805
= 145,015,000
= 18,126,875
01 HXNHHNBHELS 163,141,875 165,111,680 A 1,969,805
OMASN 163,141,875
= 145,015,000
< 18,126,875
(o RS F=0: 1,681,875 1,162,708 519,167
= 1,495,000
< 186,875
308 XX EHSOIA 1,681,875 1,162,708 519,167
= 1,495,000
< 186,875
01 HIXNHHBNEES 1,681,875 1,162,708 519,167




SH =SNEMY
My RO EMBEE
ool JZMESE 25 U X8 (el @2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OdfAMEMZ20 1,681,875
= 1,495,000
= 186,875
ME=a=10:N =9I PSPSPIECD] 455,309 471,672 N 16,363
308 XAHXIGHHMSO0|& 455,309 471,672 N 16,363
08 W=EJl&otistE = 455,309 471,672 AN 16,363
ousz 455,309
kRSOl (DI =42 A}H) 2,150,000 3,500,000 A 1,350,000
= 2,150,000
308 MXISHMSOIA 2,150,000 3,500,000 A 1,350,000
= 2,150,000
01 IIXHAHIMNEEXTZ 2,150,000 3,500,000 A 1,350,000
OJI=¢3 A &3 gol X 2,150,000
= 2,150,000
U2SHOI (XA HE) 328,463 625,644 A 297,181
= 291,967
& 36,496
308 XHXIEH SOl A 328,463 625,644 A 297,181
=2 291,967
& 36,496
01 AIXSHMEMNEX= 328,463 625,644 A 297,181
OXAAHE &= &SI 328,463
= 291,967
=} 36,496
PAR=2-\ 6,167,250 5,568,750 598,500
= 5,482,000
& 685,250
308 XAHXISHH SO0l & 6,167,250 5,568,750 598,500
= 5,482,000
& 685,250
01 IXHHNIMNEXS 6,167,250 5,568,750 598,500
O2ZasXNX&A 6,167,250
= 5,482,000
== 685,250
SSHAY 22l AF 1A Hl X 1,096,742 1,096,742 0
= 843,648
o= 253,094
308 AMXISHMSOIA 1,096,742 1,096,742 0
= 843,648
=} 253,094
01 AIXSHMEMNEX=Z 1,096,742 1,096,742 0
OSE A 22l AP 21248 XI& 1,096,742
= 843,648
& 253,094




2N
X ZH -
L= B

el

=N
SLIBIE SRS
INEMERH 75 L A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ANZ7 SeAtd el XI& 122,000 122,000 0
= 122,000
308 AHAIEHHSOIA 122,000 122,000 0
= 122,000
01 HXNHHBHELS 122,000 122,000 0
OAIZ Atcll2telAtey XI& 122,000
= 122,000
AtglEXels elAdl XI& 1,029,000 1,837,500 A 808,500
= 1,029,000
308 XXM SO0l A 1,029,000 1,837,500 A 808,500
= 1,029,000
01 HIXNHHBNEES 1,029,000 1,837,500 A 808,500
OAtal= Xl elAadl XI& 1,029,000
= 1,029,000
SHE XEFE SSMHA XA 1,217,160 1,217,160 0
= 1,217,160
308 XtXIEHH SOl A 1,217,160 1,217,160 0
= 1,217,160
01 X HHILEES 1,217,160 1,217,160 0
OSH8s AtclZ2elAtdl X3 1,217,160
= 1,217,160
ROt SXNAMHA X 36,180 740,300 AT04,120
= 36,180
403 UHXISHHSA=0l& 36,180 740,300 AT04,120
= 36,180
01 X ESHHMA=LE L 36,180 740,300 AT04,120
OX0tIte SXNAEIA IHEXE 36,180
= 36,180
SE=SANXZAIAE AKX 115,143 113,834 1,309
201 LB-2E | 14,580 16,200 A 1,620
01 At 22l 14,580 16,200 A 1,620
OSd¥sE =EXNdEs e S 2L (0 E210%
) 14,580
308 XX EHHSOIA 100,563 97,634 2,929
01 HIXNHHBMNEES 100,563 97,634 2,929
O¥g=2IsXNEY 29 X 100,563
ez, NANEdE 2 SATNSHHII (A2, 14,899,309 12,453,952 2,445,357
=22)
= 13,243,830
< 1,655,479
308 A EHHSOIA 14,899,309 12,453,952 2,445,357
= 13,243,830
< 1,655,479




SN =2XEYY
M IO ZMELEH
Cel JIZMESE 25 2 AY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 14,899,309 12,453,952 2,445,357
oxg=z2z 13,359,786
= 11,875,365
< 1,484,421
Ooxgzas 1,539,523
= 1,368,465
< 171,058
NE22, NAMEHE L ZANSLAHSI(AZ, 27,105 25,814 1,291
M)
= 22,322
< 4,783
308 XXIEHHSOIA 27,105 25,814 1,291
= 22,322
< 4,783
01 AXHHILEES 27,105 25,814 1,291
ORXHE A 22 27,105
= 22,322
= 4,783
NHE2Z, NARESHH L ZANVSLESY (A2 3,326, 143 2,867,900 458,243
&)
= 2,737,506
< 588,637
308 XXIEHH SOl A 3,049,179 2,867,900 181,279
= 2,509,418
< 539,761
01 AXHHIYEES 3,049,179 2,867,900 181,279
OXdiady 29 3,049,179
= 2,509,418
< 539,761
403 XHXI €I S Xt =201 ® 276,964 0 276,964
= 228,088
< 48,876
01 X HHMA=2LE L 276,964 0 276,964
OXNgGRady &3 276,964
= 228,088
< 48,876
ez, NANEdE 2 ZANEHdH2IS (=, 8 547,680 521,600 26,080
&)
= 383,376
< 164,304
307 21201 A 547,680 521,600 26,080
= 383,376
< 164,304
10 M2 SXNANEHE2IHEX 547,680 521,600 26,080
OsgZdiadyd 249 & 547,680
= 383,376
< 164,304




SH =SNEMY
M. ZOI)|XMESE
ool JZMESE 25 U X8 (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
228U A LS (A2EY) 2,912,175 3,738,155 A 825,980
= 2,709,000
& 203,175
308 XAHXIEHSOIA 2,912,175 3,738,155 A 825,980
= 2,709,000
o 203,175
01 AIXSHMENMNEX= 2,912,175 3,738,155 A 825,980
O3 UIINSEE | (I==2AH) 481,600
= 448,000
=} 33,600
ougosssd 193,500
= 180,000
& 13,500
OFUEs U SEH 678,325
= 631,000
& 47,325
OogYINszsE |l 1,558,750
= 1,450,000
= 108,750
MRS ASIMHIA SRAY (JFAIE) 1,564,000 1,349,123 214,877
hag 1,288,000
o= 276,000
308 XX SHHSOIH 1,564,000 1,349,123 214,877
g 1,288,000
= 276,000
01 AIXSHMEMNEXZ 1,564,000 1,349,123 214,877
OJIAIZIg 8 E X & 1,564,000
Fag 1,288,000
= 276,000
C=oldHedy 42,000 42,000 0
308 XHXIEH SOl A 42,000 42,000 0
P EREES 42,000 42,000 0
Ok=xzoagdayg N 42,000
22 e 223X €42 N (Z, /AEH!) 37,044 70,600 N 33,556
= 25,931
= 11,113
307 giztol A 37,044 70,600 AN 33,556
= 25,931
& 11,113
10 A SXNANEEHESIGHEX 37,044 0 37,044
OXNMEEXRAIYE AEF2HH| 37,044
= 25,931
= 11,113
ols=2Xsx 147,416,036 93,632,210 53,783,826
= 100,012,721




2N

X{ XH -
S =

N x-lxuﬂ
ors=EXsd

cHel: or%gwg D2ME 23 (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

Pl 2,665,000
& 39,062,815
£ 5,675,500

OlsSs e Z22ME FX 147,416,036 93,632,210 53,783,826
= 100,012,721
J| 2,665,000
& 39,062,815
£ 5,675,500

olss+% XI& 98,211,107 57,490,577 40,720,530
= 80,880,835
= 17,330,272

308 XHXIEHSOIA 98,211,107 57,490,577 40,720,530
= 80,880,835
= 17,330,272

01 AIXSHMEMNEX= 98,211,107 57,490,577 40,720,530
Oools4+Y 23 98,211,107
= 80,880,835
= 17,330,272

K REH AFSIHl X2 (0tsS44) 30,975 0 30,975
= 25,509
& 5,466

308 XHXISH SO0l & 30,975 0 30,975
= 25,509
& 5,466

01 IXHHIMNEXS 30,975 0 30,975
OXXHM ALSH X (0ts44) 30,975
= 25,509
& 5,466

XNEosSESHEEI|H 29 1,943,452 1,797,818 145,634
= 971,726
& 971,726

307 212t0| & 1,943,452 1,797,818 145,634
= 971,726
o= 971,726

05 QIZ2tREF 2 1,943,452 1,797,818 145,634
OXY0lsEsd2) |2 29 1,943,452
= 971,726
= 971,726

StOloiOlsa s &9dl, &2dl, A 423,698 277,651 146,047
= 242 113
& 181,585

308 XHXIEHSOIA 423,698 277,651 146,047
= 242 113
& 181,585

01 AIKSHHEMNEXZ 423,698 277,651 146,047
Osttiuloiotsae 29 XN 423,698




2N
X ZH -
L= B
el

gxl I-IIHJ];
ors=EXs
Ol%gl 9 T2ME =X

il

i

(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 242,113
< 181,585
Stmoiots2H A& 228,900 0 228,900
= 130,800
< 98,100
403 UHXSHHSA=0l& 228,900 0 228,900
= 130,800
< 98,100
01 HXSHMA2LE X 228,900 0 228,900
Ostthulohiols &dH =4 228,900
= 130,800
< 98,100
RES0ts I8 22 1,037,421 887,760 149,661
= 691,614
< 345,807
308 XXIEtH S0 A 1,037,421 887,760 149,661
= 691,614
< 345,807
01 IXNHHBANEES 1,037,421 887,760 149,661
OREslls 088 22 1,037,421
= 691,614
< 345,807
ZAHE0LS RHE K& 126,880 0 126,880
= 88,816
< 38,064
307 21201 A 126,880 0 126,880
= 88,816
= 38,064
11T AR SXAIEE = 126,880 0 126,880
OZHdots MHEXE 126,880
= 88,816
< 38,064
FHLNSOIS Azl zel 31,500 0 31,500
308 XXM S0 A 31,500 0 31,500
Y EREES 31,500 0 31,500
OZAHEXS0tES Atcdl2el d2el&AX & 31,500
ESEIZ0sS FAHAH SSMEIA 115,158 0 115,158
= 92,126
< 23,032
307 glz2+ol & 115,158 0 115,158
= 92,126
< 23,032
11T AISI S XA E X 115,158 0 115,158
OBs320ts =HAE SEALA 115,158
= 92,126




2AM: =X "““EP
3 ois=Asd

ool or%gwg Z2NE X (el @2)
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2

| = 23,032

Bs3s0ls Mg XN 309,049 0 309,049
=2 278,744
== 30,305

308 NXIEHSOIA 309,049 0 309,049
2 278,744
= 30,305

01 AIXSHMEAMNEX= 309,049 0 309,049
BsE=0ls ANgExE 309,049
= 278,744
& 30,305

Ots=XNA4 JIsE22 530,250 1,010,785 A 480,535
= 353,500
& 176,750

403 XX SHHS K20 & 530,250 1,010,785 A 480,535
= 353,500
& 176,750

01 XIS A=Z2E X 530,250 1,010,785 A 480,535
OtssXNAIE JIs:2d 530,250
= 353,500
= 176,750

XNHOtSHEH AESXNY 29 168,000 168,000 0]
= 84,000
o= 84,000

307 2I2t0| & 168,000 168,000 0
= 84,000
=} 84,000

02 DIZHB AAIE E X 168,000 168,000 0
OXNYGotsdH AMNZXNEt 29 168,000
= 84,000
& 84,000

ANEOotsSHH I & Hotd 29 41,504 40,000 1,504
= 20,752
& 20,752

307 2iz2to| & 41,504 40,000 1,504
= 20,752
= 20,752

11T AISIEXAIE EX 41,504 40,000 1,504
OX<EotsHdy B & HOte 89 41,504
= 20,752
=} 20,752

NE0otsHEH 2294 A& 9,859,616 9,189, 180 670,436
= 7,584,320
= 2,275,296

308 XAXISHHM SO0l & 9,859,616 9,189, 180 670,436
= 7,584,320




2N

X{ XH -
S =

EPARSE )
os=EXEX

il

©9: OtSslYy ZRME XX ECR-E)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

== 2,275,296

01 IXNHHBNEES 9,859,616 9,189, 180 670,436
OX<gotsdyd 24 N& 9,859,616
2 7,584,320
< 2,275,296

S=8d Nd0tsHdH =X 288,990 288,990 0
= 222,300
= 66,690

308 XX EHHSOIA 288,990 288,990 0
= 222,300
< 66,690

01 X HHILEXS 288,990 288,990 0
S+=8g XNGorsdE =X 288,990
= 222,300
< 66,690

ERRE NYotsdE =K 194,438 173,550 20,888
= 149,568
< 44,870

308 AHXIEHHSOIA 194,438 173,550 20,888
= 149,568
< 44,870

01 HIXNHHNBMNELS 194,438 173,550 20,888
OCER2Y XIotsdH FIHX& 194,438
= 149,568
< 44,870

SN 0tsdlH X2 360,360 360, 360 0
= 277,200
< 83,160

308 XXM SOl A 360,360 360, 360 0
= 277,200
< 83,160

01 AXHHILEES 360,360 360, 360 0
Of=X4d0tsdH XA 360,360
= 277,200
< 83,160

ANSG0otsdH S#HHHd K& 689,000 0 689,000
= 530,000
< 159,000

403 A X EHHS =0l A 689,000 0 689,000
= 530,000
= 159,000

01 X EHHA=LE L 689,000 0 689,000
OXYotsdH &3MHH X& 689,000
= 530,000
< 159,000




SN SXNZH
o 0IS=NST

o9l OS5 Y T2ME =X (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Ots=X WA OtAXA 1,718,328 1,926,600 N 208,272
= 1,321,791
< 396,537

308 AHAIEHHSOIA 1,718,328 1,926,600 N 208,272
= 1,321,791
< 396,537

01 HIXNHHNBHELS 1,718,328 1,926,600 N 208,272
OO0tSS X WA THAX&A 1,718,328
= 1,321,791
< 396,537

FHAHNE OlsSEMEIA XA 4,158,000 4,500,000 A 342,000
= 4,158,000

308 XXM SO0 A 4,158,000 4,500,000 A 342,000
= 4,158,000

01 IXNHHBNEES 4,158,000 4,500,000 A 342,000
OFAAHE OlsSEAMEIA XA 4,158,000
= 4,158,000

UAOISIEX | 1,131,016 1,277,507 146,491
= 931,425
< 199,591

308 XtXIEHH SOl A 1,131,016 1,277,507 A 146,491
= 931,425
< 199,591

01 X HHILEES 1,131,016 1,277,507 A 146,491
oggots s+ XN& 1,020,510
= 840,420
= 180,090
OZMYLols dEEXS N 60,271
= 49,635
< 10,636
Oga=efii2 2% X 1,785
= 1,470
< 315
ogadlE XA 48,450
= 39,900
< 8,550

YAINEAEOS delxz X 44,000 31,200 12,800
= 30,800
< 13,200

307 21201 A 44,000 31,200 12,800
= 30,800
< 13,200

11T MISRASEX 44,000 31,200 12,800
OgdIFE0s delxlzg X3 44,000
= 30,800
< 13,200




2N

EPARSE )

M ts=XNSd
Col: OIS Y TZR2ME =7 (crel: @ el)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
IIEASE0E Hdoi2g=E N& 39,000 49,000 A 10,000
= 27,300
< 11,700
201 £B-2d| 39,000 49,000 210,000
= 27,300
< 11,700
02 8323l 39,000 49,000 A 10,000
OJNERAE0S 282 X 39,000
= 27,300
< 11,700
OtsZ2E R HI RAXSHHMILAER 1,116,514 954,428 162,086
= 919,482
< 197,032
308 XXM S0l A 1,116,514 954,428 162,086
= 919,482
< 197,032
01 IXNHHBANEES 1,116,514 954,428 162,086
OOt XA UHXNSHBA4EX 1,116,514
= 919,482
< 197,032
ZAOts 24l X 2,665,000 2,655,000 10,000
J| 2,665,000
308 XXIEHSO0IA 2,665,000 2,655,000 10,000
| 2,665,000
01 AXSGHBLELS 2,665,000 2,655,000 10,000
OZAl0ts S4Hl XI& 2,665,000
| 2,665,000
sl E¢Z25Y g4H N2 5,320,000 5,320,000 0
£ 5,320,000
308 XXM S0 A 5,320,000 5,320,000 0
£ 5,320,000
01 AXSGHBLAEES 5,320,000 5,320,000 0
Oglls E¢435Y S4H XA 5,320,000
g 5,320,000
SEODI=Y 11,309,000 0 11,309,000
201 L2l 9,000 0 9,000
01 At 22l 9,000 0 9,000
OsE0tII=g 2L (0l & 210%) 9,000
308 XX EHH SOl A 11,300,000 0 11,300,000
01 AXNHHMBAMNEES 11,300,000 0 11,300,000
Os<gol=g X&A 11,300,000
Meord X 3,140,780 3,028,740 112,040
< 2,785,280




SN =SXHHD

ol OlS=XSE

Sel: OtSElY =

il

H
b
Im

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
] 355,500
201 et A | 18,000 0 18,000
01 At 22l bl 18,000 0 18,000
OOlSMEAIE "I & HOS (0l &HE 2H10%) 18,000
308 XX SHHSOIA 3,122,780 3,003,740 119,040
< 2,767,280
£ 355,500
01 AIXHMBAEXZ 3,122,780 3,003,740 119,040
O0ts%¥=2AId 29Hl XN& 2,528,000
< 2,172,500
£ 355,500
OEASANE NEHEHEH=Z X 217,500
ONME/EINE 58Xz X 3,240
O0ls Moty Xa(zZ& 341,940
OF3dEEE YdAx=52 N 32,100
St5EE X4 685,760 774,000 A 88,240
307 212t0| & 47,700 46,000 1,700
11 A EXNAEE X 47,700 46,000 1,700
OMEANSE SAIA RS L A4 WE(
Ofl AFE 2H10%) 29,700
OXNYO0otSHE EAXN WESXIS (0 A 210%) 18,000
308 AXISHXMSOIH 578,060 665,000 A 86,940
01 HXHNBMNEXTZ 578,060 665,000 A\ 86,940
OXNY0tSHEH X (Z2) 257,000
Oo0ls &8 X (z2) 321,060
403 XtXISHH S K201 60,000 63,000 A 3,000
01 HXHNMAHESE =X 60,000 63,000 A 3,000
OE4dZ XNYO0IsdH JIsE2AY 60,000
o F 2 A2l BN 1,498,340 1,431,064 67,276
307 QI2t0| ™ 1,243,340 1,026,064 217,276
04 DIZ2tSHAFAFS B X 3,600 9,000 A5,400
O0lglo] =2t AF =& (0fl A= 2H10%) 3,600
05 QI2tRE 2 439,740 400,064 39,676
OsSYINE/AEXNJALHH 29 373,000
OOtsXHE XX 2 29 66,740
10 AIRISEXAIEEHE2IGHIEX 269,000 259,000 10,000
OZ2dJ|I&a 89 269,000
11 AMISAAEE X 531,000 358,000 173,000
OOtsXESE X 210,000
Ootssuog X3 72,000
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